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(a) Write vour Roll No. on the top 1rnmed1ate1y
on reczipt of this question paper. :
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(b) Answer may be written either in Sanskrit

or in English or in Hindi; but the same
medium should be used throughout the

paper.
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(c) All questions are compulsory.

Y gs H sEd ¥

Desctibe the social system of the Vedic period.

14
Afepare TIHIST- SR T e Fen |
OR |
FrETar
Write short notes on any two of tte following :

frrferfeaa & & fp=et & X digrey feorel ffew -

(i) Time of Rgveda according to Lokmanya
Tilak "
Arepar e & TgE HIAS ) BT

(i) Samveda

Hrae
(iii) Atharvaveda

Fydde
(iv) Saitapatha Brahmana

I HIEYl
Describe the date of the Ramayana. | 14
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Discuss the importance of the Rimdyana and
its‘irrﬂuence on the literature of later period.
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3. Discuss the date of the Mahabhirata and

describe its different stages of the development.

14
HETHIRT &, TR 1 e #<a gu 39S fae
i (=T orgrett & I WHiT |

! OR
srerdr

I
How is the culture of Rimyana period different

from the Mahabharata period ? Explain it.

THTOTRIAN EEH T HETHIRAHT T Tp & e srehrT
R & 2 vy Q)

Explain the bas:s of the division of the Puranas

and describe its subject matter. 12
RN & IS @ STINIR Bl BT A g G B
fag-agg @ faE=s it |
' OR
STEET

Describe social and cultural importance of

Purianas.
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5. Write short notes on the following :
Prefenae ux wifere feogoft ffeg -

(i) zrpToTREETHTs!
OR
AeEr
EREGIN
(i1) a=pin Rar=r
OR
ST | ]
o TeE =
(iii) >S9 a'éi-rr
OR
aTergr
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